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Aufgabe 1
Ergénze die fehlenden Briiche.
21 _ T 7 49 9 _ 13
R N ) 15=7 o TIT .
1 _ 16 7 _ T 9 _ 189
3 =33 )3 =78 f)r 1 =la31
1 _1~3 11 _ 33 : 1 27
g 35 =175 h) 35 =03 )8 =300
10 _ 8
V- =9
Aufgabe 2
Erganze die fehlenden Briiche.
7T _ T 3 _ 1 3_9 4 1
a) g =15 b1 =3 ¢ 1= ) 5=3
4 1 1 _ 4 3 _ 1 41
g5 =13 B 5=1 g "1=% h) "5 =75
o 2 _ 1 3 3
i) 3 =5 Do 10=7
Aufgabe 3
Erginze die fehlenden Briiche.
27 _ 15 68 _ 340 15 _ 975
a) 9T = 2548 b) 71 = 5303 )37 = 3539
1 _ 21 29 _ 2146 55 _ 4235
5 =30 ¢ 95 = % £) T = 6612
33 . _ 2079 h) 6 . _ 168 ) 53 _ 2279
& 97 = 778 T = 106 i 76 = 5396
) .65 _ 1495
J 98 — 7056
Aufgabe 4
Erganze die fehlenden Briiche.
19 _ 1235 20 _ 159 18 _ 1116
A4 = 3077 b)3 - =lgr ¢ 13 = 1157

www.dw-aufgaben.de Selte ]_ bsp-5732-3/YIWJ



83 — 5220

11 _ 319

8 g = 336
32 107
oo = 0T

Viel Erfolg!
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